








  

開成高等学校 2024年入試 数学解答
 
 
１ 
[Ａ] 
 (1) 例：Ｚ(t2＋t，t2) 
 (2)(ア) 5  (イ) 4  (ウ) 5 

 (3) Ｚ 23 29 33 4 29
25 25

 
  
 

＋ －
，　  

[Ｂ] 
 (1) (ア) ＣＤ  (イ) ∠ＤＢＣ＝∠ＤＥＣ  (ウ) ＤＨ  (エ) ∠ＤＥＨ＝∠ＤＡＨ 

 (2) 例：③より，∠ＤＢＦ＝∠ＤＡＦ となるので，4 点Ａ，Ｂ，Ｆ，Ｄは同一円周上にある。 
     よって，∠ＡＦＢ＝∠ＡＤＢ＝90° 
 
 
２ 
 (1)(ⅰ) 75 個  (ⅱ) 2 
 (2)(ⅰ) 25 個  (ⅱ) 20 個  (ⅲ) 20 個 
 (3)(ⅰ) 100 個  (ⅱ) 例：222，226，266  (ⅲ) 92 個 
 (4) 567 個 
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 (2) 右図 

 (3) 5 6
6

 

 (4) 22
2

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Ａ 

Ｂ Ｍ 

1Ａ

1Ｂ

Ｇ 

Ｏ 


	68kaisei2



